Proof of static strength

General

The proof of strength under quasi-static stress protects against
excessive deformations due to yielding of the material or sliding of
friction-grip connections as well as against static rupture of structural
members or connections.

The proof shall be delivered for structural members and connections
taking into account the most unfavorable load effects from the load
combinations A, B or C according to Table 10 and applying the
resistances according to 5.3.

Limit design stresses and forces

General

The limit design stresses and forces shall be calculated by:
Limit design stresses fRd = function (fk, YR) OF

Limit design forces Frq = function (Fy, Yr).
where

fk or F are characteristic values (or nominal values)
YR is the resulting resistance coefficient yr = Pm * s
Ym is the resistance coefficient y, =1,1 (see Table 10)

Ys is the general specific resistance coefficient for special parts of this
standard

NOTE fRd and FRd are equivalent to R/y, in Figure 2.

PacueT Ha cTaTU4YeCKyI0 NPOYHOCTb

O6Lwune nonoxeHus

MpoBeaeHWe pacyeTa Ha NPOYHOCTbL NPY AeNCTBUUN KBA3UCTaTUYECKNX
HanpsPkeHW NpeaynpexaaeT YpeaMepHble gedopmaumu,
BO3HMKAOLLME NPU OOCTVXKEHUN MaTepranom COCTOSIHUS TEKY4EeCTU
UM NPV NPOCKanb3biBaHWM NMOBEPXHOCTEN COEQNHEHUIA C
BbICOKOMPOYHbIMW BonTamu, a Takke NpeaoTBpalLaeT cTaTu4yeckoe
paspyLLeHEe 31EMEHTOB KOHCTPYKLUN U UX COEANHEHWIA.

PacyeT aneMeHTOB KOHCTPYKUMN N UX COeOUHEHUNA Ha NPOYHOCTb
cnegyeT NpoBOAUTb C y4eToM Hanbonee HebnaronpusiTHOro
coyeTaHus Harpy3ok ons pacdeTHblx cnydyaeBs A, Bn Cs
cootBeTcTBUM ¢ Tabnuuen 10 n ncnonb3oBaHus gopmyn nyHkTa 5.3
ANs pacyeTa CoOnpoTUBIIEHUN.

I'Ipep,eanble pacyeTHble HanpsaXeHnda n ycunums

O6Lwue NonoxeHus

MpeaenbHble pacyeTHbIe HaNPSPKEHUS U YCUMUS OOMKHbI
BbIYMCNATLCA crieayloLmnum obpasom:

MpenenbHble pacyeTHble HanpskeHust Trq = dyHkums (fy, YR) Vnn

MpeaenbHble pacyeTtHble yeunus Frq = dyrkuna (Fy, Yr),
roe

fi um Fy
3Ha4YeHus)
YR CYMMapHbIN KO3MPAULIMEHT CONPOTUBIEHUA YR = Pm * Ps

Ym  KO3MMDULMEHT conpoTusrneHms Yy = 1,1 (cm. Tabnuuy 10)

Xapakrtepuctmnieckme BerMYnHbI (HOMVIHaJ'IbeIe

Vs 0006 LLEHHBbIN JONOMHUTESNbHBIN KO3MUUMNEHT CONPOTUBIEHNS
A5 OTAENbHbBIX TUNOB 31IEMEHTOB, PACCMOTPEHHbIX B AAHHOM
cTaHgapTe

NMPNMEYAHUNE fRd n FRrq skBnBanenTHbI R/y, Ha PucyHke 2.



